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There are two parts in the Question Paper.

Parts of a question should be attempted together.

part 1 : All its questions are compulsory- '
Part I : Attempt any four questions.
Part 1

Question No. 1 is compulsory. Parts of the quest

(@)  What do you understand by object oriented programming ?

M rite a C++ statement 1O print the following line. Assume the total v

contained in the variable name cost.
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Part 11

Attempt any four questions.
2. (a) hat are lvalue and rvalue expression
)bﬁ/( Write a C++ function to swap the
Mive the output of the following program :
# include <iostream=> | |
3 ’ ) using namespace std;
A - int array 1 [ ] = {1200, 200, 2300. 1230, 1543};
int array 2 [ ] = {12, 14, 16, 18, 20};
int temp, result = 0;
int main( ) -
{

g for (temp = 0; temp < 5; temp+)

s 7 Give suitable examples.

values stored in two variables.
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Private . : ! { dﬂ _ return 0;
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. . (g What are the advantages of Inheritance .
y ; g . the given one-dim ensional array.
clasg by” Write a program to find minimum and maximum pumbet from 1e €
A Read the arrdy from the user.
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(7))

(b) Give the output of the following code

—~—

char str [3] = “abede™;
cout << str [3];

cout << str;

’ . return 0;
§

(¢) What are friend classes 9 What are 1

7. (gy” Give the output of the following program "
# include <iostream~

/ . B
: using namespace std;

class Box

fl ; { public
Vi : :
(| ght;

double length, breadth, hei

int main( )

{  BoxBox L

ts advantages ?
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